



To: Bryan Gazda, Town Manager From: Bryan Ruoff, P.E.

Town of Thetford, VT Auburn, NH Office

File: 195113470 Date: June 2, 2022

Reference: Latham Road Phase 2 Roadway Rehabilitation and Phase 1 Completion

Stantec has reviewed the three (3) bids received by the Town of Thetford for the referenced project at the bid opening on Wednesday, June 1, 2022, at 10:00 AM. Bids included a low bid of \$1,416,136.90 to a high bid of \$1,923,514.00 (including Base Bid and Bid Add Alternate #A). The following is a summary of the received bids:

<u>Rank</u>	<u>Contractor's Name</u>	<u>Location</u>	<u>Bid Total</u>
1.	Northwoods Excavating Inc.	Thefford, VT	\$1,416,136.90
2.	Pike Industries, Inc.	Barre, VT	\$1,624,283.50
3.	L&M Service Contractors, LLC	Norwich, VT	\$1,923,514.00

The low bidder is Northwoods Excavating Inc. (Northwoods) of Thetford, VT with a total submitted bid price of \$1,416,136.90 which includes the Base Bid Total, and Bid Add Alternate#A. The complete bid tab summary is attached to this memorandum as Attachment A. Northwoods's complete bid and bid bond are also attached as Attachment C.

A summary of the Total Base Bid and Bid Add Alt total prices that were received from the three bidders for the project are summarized below.

	<u>Northwoods</u>	<u>Pike Industries</u>	L&M Service Cont.
Base Bid Total :	\$1,041,835.90	\$1,257,131.00	\$1,560,569.00
Add Alt 'A' Total:	\$374,301.00	\$367,152.50	\$362,945.00
Base Bid & Alternates Total:	\$1,416,136.90	\$1,624,283.50	\$1,923,514.00
Approximate 2023 Paving Costs:	\$180,627.00	\$161,545.00	\$195,700.00



June 2, 2022 Latham Road Phase 2 Roadway Rehabilitation Bid Opening Summary Page 2 of 3

Reference: Latham Road Phase 2 Roadway Rehabilitation and Phase 1 Completion

The following sections summarize Stantec's bid review:

Contractor Qualification

Northwoods successfully completed the following projects in Thetford, VT within the past five (5) years while serving as the general contractor on the project. These projects were all designed by Stantec; with construction for these projects also administered and inspected by Stantec, except for the Rte. 132 Phase 1 Roadway Reconstruction Project.

- 1. VT Rte. 132 Phase 2 Roadway Reconstruction (ongoing)
- 2. VT Rte. 132 Phase 1 Roadway Reconstruction
- 3. Turnpike Road South Roadway Repair and Culvert Installation
- 4. VT Rte. 132 Storm Damage Repairs Site# 12, 16 and 17
- 5. FEMA Storm Damage Repairs for Gove Hill Road
- 6. FEMA Storm Damage Repairs for Tucker Hill Road
- 7. Thetford Pedestrian Improvements Project

Stantec's overall experience with Northwoods is that they complete projects on time and within budget and perform quality work.

Based on our experience working with Northwoods for the above-mentioned projects, Northwoods's performance on these have been good on the noted projects that they have been involved with. All references indicated that they would hire Northwoods again for future work. The complete reference check forms are enclosed as Attachment B.

Bid Items Review

Stantec reviewed Northwoods's bid unit item prices relative to Stantec's opinion of probable construction costs and did not identify unit item prices that were either considerably lower or considerably higher than Stantec's opinion of probable costs. This is an indication that Northwoods submitted a balanced bid.

Recommendation

Based on review of the bid, Stantec's experience working with Northwoods, and the references contacted for this project, Northwoods is the lowest responsive and responsible bidder for the Latham Road Phase 2 Roadway Rehabilitation Project in Thetford, VT. Stantec recommends that the Town of Thetford award the contract for the VT Rte. 132 Phase 2 Roadway Reconstruction Project to Northwoods Excavating, Inc.



June 2, 2022 Latham Road Phase 2 Roadway Rehabilitation Bid Opening Summary Page 3 of 3

Reference: Latham Road Phase 2 Roadway Rehabilitation and Phase 1 Completion

The bid for this project was structured to allow the Town some additional financial flexibility within the scope of the project. The bid included an Owners Bid Add Alternate item to repair and pave the limits of Phase 1 of the roadway. The intent of utilizing the Owners Add Alternate is award this portion of the project with the Base Bid - Phase 2 Road Rehabilitation scope of work, if the Town's available funds allow. It should be noted that Northwoods submitted the highest Owners Add Alternate price total with their bid the difference between their submitted bid and the low bid submitted by L&M was only roughly \$12,000 (3-percent higher). Considering the overall Base bid price plus the Owner's Add Alternate, Northwood's remains the low bidder.

Stantec recommends the award of the Contract to Northwoods Excavating Inc. for either the Base Bid or the Base Bid plus the Bid Add Alternate total, depending on the Town's available funds. We have provided a Notice of Award for Both of these options for the Town's used in Appendix D.

Please feel free to contact me should you have any questions or need any additional information.

Respectfully Submitted,

STANTEC CONSULTING SERVICES INC.

Bryan Ruoff, P.E.

Associate / Project Manager

Phone: 603-206-7548
Bryan.Ruoff@stantec.com

cc. Thetford Select Board Rene LaBranche, Stantec

Attachments: A. Certified Bid Tab

B. Contacted Reference Checks

C. Northwoods's Complete Bid & Bid Bond

D. Notice of Award

Attachment A: Certified Bid Tab

COMPARISON OF BIDS FOR: Latham Road Phase 2 Roadway Reconstruction and Phase 1 Completion Project

SUBMITTED TO THE:

Bid Opening: June 1, 2022 @ 10 AM

Town of Thetford, VT

Stantec Project#: 195113470



BIDDERS: L&M Service Contractors, LLC Pike Industries, Inc. Northwoods Excavating, Inc. 287 River Road 289 Ulman Road 3 Fast Gate Park Road Norwich, VT 05055 Thetford Center, VT 05075 Belmont, NH 03220 Item No. Description Unit Quantity **Unit Price Total Unit Price Unit Price Total Unit Price Unit Price Total Unit Price** 203.15 COMMON EXCAVATION C.Y. 7,300 \$20.00 \$146,000.00 \$10.25 \$74,825.00 \$10.00 \$73,000.00 204.20 TRENCH EXCAVATION OF EARTH C.Y. 400 \$40.00 \$16,000.00 \$21.00 \$8,400.00 \$17.00 \$6,800.00 204.21 TRENCH EXCAVATION OF ROCK C.Y. 35 \$300.00 \$10,500.00 \$115.00 \$4,025.00 \$200.00 \$7,000.00 COARSE MILLED, BITUMINOUS \$3,000.00 \$5,290.00 \$75.00 \$15,000.00 210.10 S.Y. 200 \$15.00 \$26.45 PAVEMENT SUBBASE OF CRUSHED GRAVEL, 301.25 3,000 \$38.00 \$114,000.00 \$30.80 \$92,400.00 \$40.00 \$120,000.00 C.Y. COURSE GRADED CRUSHED SHIMMING GRAVEL -301.26 C.Y. 1,200 \$40.00 \$48,000.00 \$30.80 \$36,960.00 \$33.50 \$40,200.00 ADMIXTURE FINE GRADED FULL DEPTH RECLAMATION 310.20 \$17.050.00 \$23,250.00 S.Y. 15.500 \$1.50 \$23,250,00 \$1.10 \$1.50 401.10 AGGREGATE SURFACE COURSE C.Y. 200 \$40.00 \$8.000.00 \$38.50 \$7,700.00 \$18.00 \$3,600.00 AGGREGATE SHOULDERS TON 560 \$30.00 \$16,800.00 \$44.50 \$24,920.00 \$20.00 \$11,200.00 402.12 404.65 EMULSIFIED ASPHALT GAL 600 \$10.00 \$6,000.00 \$8.80 \$5,280.00 \$12.00 \$7,200.00 SUPERPAVE BITUMINOUS CONCRETE 406.35 TON 2.150 \$120.00 \$258,000.00 \$112.00 \$240.800.00 \$98.50 \$211.775.00 PAVEMENT (2-1/2" BASE COURSE) SUPERPAVE BITUMINOUS CONCRETE 406.35A TON 1,350 \$120.00 \$162,000.00 \$112.00 \$151,200.00 \$98.50 \$132,975.00 PAVEMENT (1-1/2" TOP COURSE) PRICE ADJUSTMENT, BITUMINOUS ALLOWANCI \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 406.50 ASPHALT PRECAST CONCRETE STRUCTURE \$6,000.00 \$6,000.00 **EACH** \$2,000.00 \$2,000.00 \$9,200.00 \$9,200.00 540.10 1 601 2615 18" CPEP (SL) L.F. 50 \$80.00 \$4,000.00 \$67.73 \$3,386.50 \$96.00 \$4,800.00 601.2615 24" CPEP (SL) L.F. 50 \$100.00 \$5,000.00 \$78.50 \$3,925.00 \$102.00 \$5,100.00 601.7015 18" CPEPES EACH 2 \$700.00 \$1,400.00 \$325.00 \$650.00 \$650.00 \$1,300.00 601.7020 24" CPEPES EACH 1 \$800.00 \$800.00 \$325.00 \$325.00 \$800.00 \$800.00 605.10 6-INCH UNDERDRAIN PIPE L.F. 1.800 \$45.00 \$81,000.00 \$21.50 \$38,700.00 \$38.00 \$68,400.00 605.10A UNDERDRAIN FLUSHING BASIN EACH 16 \$750.00 \$12,000.00 \$500.00 \$8,000.00 \$450.00 \$7,200.00 \$2,250.00 \$4,950.00 DUST CONTROL WITH WATER \$50.00 \$250.00 \$11,250,00 609 10 MGAI 45 \$110.00 STONE FILL, CLASS I 613.10 C.Y. 140 \$60.00 \$8,400.00 \$46.56 \$6,518.40 \$75.00 \$10,500.00 617.10 RELOCATE MAILBOX, SINGLE SUPPORT EACH 6 \$175.00 \$1.050.00 \$150.00 \$900.00 \$130.00 \$780.00 STEEL BEAM GUARDRAIL GALVANIZED 621.205 L.F. 600 \$39.00 \$23,400.00 \$37.40 \$22,440.00 \$34.00 \$20,400.00 W/8-FEET POSTS MANUFACTURED TERMINAL SECTION, 621.50 EACH 8 \$3,300.00 \$26,400.00 \$3,245.00 \$25,960.00 \$2,950.00 \$23,600.00 FLARED REMOVAL AND DISPORAL OF 621.80 L.F. 600 \$3.00 \$1,800.00 \$1.50 \$900.00 \$1.90 \$1,140.00 GUARDRAIL REMOVAL AND DISPOSAL OF 621.81 **EACH** 50 \$18.00 \$900.00 \$10.00 \$500.00 \$15.00 \$750.00 GUARDRAIL POSTS 630.15 CERTIFIED FLAGGERS 880 \$40.00 \$55.000.00 \$50.00 \$44,000.00 HR \$35,200,00 \$62.50 635.11 MOBILIZATION/DEMOB. L.S. \$100,000.00 \$100,000.00 \$45,300.00 \$45,300.00 \$170,000.00 \$170,000.00 1

COMPARISON OF BIDS FOR: Latham Road Phase 2 Roadway Reconstruction and Phase 1 Completion Project

SUBMITTED TO THE:

Bid Opening: June 1, 2022 @ 10 AM

Town of Thetford, VT

Stantec Project#: 195113470



BIDDERS: L&M Service Contractors, LLC Northwoods Excavating, Inc. Pike Industries, Inc. 287 River Road 289 Ulman Road 3 Fast Gate Park Road Norwich, VT 05055 Thetford Center, VT 05075 Belmont, NH 03220 Item No. Description Unit Quantity **Unit Price Total Unit Price Unit Price Total Unit Price Unit Price Total Unit Price** 641.10 TRAFFIC CONTROL L.S. 1 \$40,000.00 \$40,000.00 \$22,550.00 \$22,550.00 \$32,000.00 \$32,000.00 4-INCH WHITE LINE, PAINT \$4.880.00 646.403 L.F. 24.400 \$0.25 \$6.100.00 \$0.22 \$5.368.00 \$0.20 646.413 4-INCH DOUBLE YELLOW LINE, PAINT L.F. 12,200 \$0.50 \$6,100.00 \$0.22 \$2,684.00 \$0.20 \$2,440.00 12 INCH WHITE LINE, WATERBORNE 646.478 L.F. 50 \$30.00 \$1.500.00 \$27.50 \$1.375.00 \$25.00 \$1,250.00 PAINT 646.612 TEMP 4 INCH YELLOW LINE, PAINT L.F. 6,300 \$0.30 \$1,890.00 \$0.28 \$1,764.00 \$0.25 \$1,575.00 649.11 GEOTEXTILE FOR ROADBED S.Y. 8,500 \$3.00 \$25,500.00 \$1.45 \$12,325.00 \$3.00 \$25,500.00 GEOTEXTILE UNDER STONE FILL 649.31 500 \$3.00 \$1,500.00 \$3.00 \$1,500.00 \$4.00 \$2,000.00 S.Y. 649.51 GEOTEXTILE FOR SILT FENCE S.Y. 1,650 \$9.00 \$14,850.00 \$4.00 \$6,600.00 \$1.20 \$1,980.00 \$15.00 \$1,200.00 \$640.00 \$25.00 \$2,000.00 651.15 SEED LB 80 \$8.00 651.18 FERTILIZER LB 50 \$6.00 \$300.00 \$4.00 \$200.00 \$15.00 \$750.00 651.35 TOPSOIL C.Y. 100 \$50.00 \$5,000.00 \$40.00 \$4,000.00 \$80.00 \$8,000.00 MONITORING EPSC PLAN 652.20 HR 32 \$85.00 \$2,720.00 \$80.00 \$2,560.00 \$85.00 \$2,720.00 652.30 MAINTENANCE OF EPSC PLAN (N.A.B.I.) L.S. \$20,000.00 \$20,000.00 \$2,500.00 \$2,500.00 \$3,500.00 \$3,500.00 \$19.00 675.20 TRAFFIC SIGNS, TYPE A S.F. 81 \$1.539.00 \$18.00 \$1.458.00 \$16.00 \$1.296.00 SQUARE TUBE SIGN POSTS AND 675.341 L.F. 110 \$20.00 \$2,200.00 \$18.70 \$2,057.00 \$17.00 \$1,870.00 ANCHOR \$10.00 675.50 REMOVING SIGNS EACH 10 \$12.00 \$120.00 \$100.00 \$10.00 \$100.00 DELINEATOR WITH STEEL POST 676 10 **EACH** 26 \$150.00 \$3,900.00 \$125.00 \$3,250.00 \$125.00 \$3,250.00 900.545 TESTING SERVICES ALLOWANCE \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 REMOVE, STOCKPILE (OR HANDLE) AND 900.608 C.Y. 3,600 \$55.00 \$198,000.00 \$9.25 \$33.300.00 \$18.00 \$64,800.00 REPLACE RECYCLED STABILIZED BASE SILT REMOVAL, DITCH 900.640 SHAPING/GRADING, LOAM, SEED AND L.F. 1,800 \$45.00 \$81,000.00 \$8.50 \$15,300.00 \$20.00 \$36,000.00 TEMP EROSION FABRIC TOTAL BASE BID \$1,560,569.00 \$1,041,835.90 \$1,257,131.00 COMPARISON OF BIDS FOR: Latham Road Phase 2 Roadway Reconstruction and Phase 1 Completion Project

SUBMITTED TO THE:

Bid Opening: June 1, 2022 @ 10 AM

Town of Thetford, VT Board of Selectmen

Stantec Project#: 195113470



BIDDERS:				L&M Service (Contractors, LLC	Northwoods E	Excavating, Inc.	Pike Indu	ustries, Inc.
		287 River Road, Norwich, VT 05055		289 Ulman Road, Thetford Center, VT 05075		3 East Gate Park Road, Belmont, NH 03220			
						Ī			
Item No.	Description	Unit	Quantity	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
ADD ALT. 'A'	- PHASE#1 OVERLAY								
Item No.	Description	Unit	Quantity	Unit Price	Total Unit Price	Unit Price	Total Unit Price	Unit Price	Total Unit Price
203.28	EXCAVATION OF SURFACES AND PAVEMENTS	C.Y.	1,000	\$35.00	\$35,000.00	\$22.00	\$22,000.00	\$10.00	\$10,000.00
204.20	TRENCH EXCAVATION OF EARCH	C.Y.	80	\$40.00	\$3,200.00	\$21.00	\$1,680.00	\$14.00	\$1,120.00
210.10	COLD PLANING, BITUMINOUS PAVEMENT	S.Y.	100	\$15.00	\$1,500.00	\$52.90	\$5,290.00	\$95.00	\$9,500.00
301.25	SUBBASE OF CRUSHED GRAVEL, COURSE GRADED	C.Y.	60	\$38.00	\$2,280.00	\$30.80	\$1,848.00	\$80.00	\$4,800.00
402.12	AGGREGATE SHOULDERS	TON	180	\$30.00	\$5,400.00	\$44.50	\$8,010.00	\$40.00	\$7,200.00
404.65	EMULSIFIED ASPHALT	GAL	500	\$10.00	\$5,000.00	\$8.80	\$4,400.00	\$12.00	\$6,000.00
406.35	BITUMINOUS CONCRETE PAVEMENT (1-1/2" TOP COURSE)	TON	1,400	\$120.00	\$168,000.00	\$112.00	\$156,800.00	\$98.50	\$137,900.00
406.38	HAND PLACED SUPERPAVE BITUMINOUS CONCRETE (2-1/2" BASE COURSE PATCHING)	TON	290	\$120.00	\$34,800.00	\$112.00	\$32,480.00	\$300.00	\$87,000.00
406.45	BITUMINOUS CONCRETE PAVEMENT SURFACE PREP (SHIM)	TON	700	\$120.00	\$84,000.00	\$112.00	\$78,400.00	\$95.00	\$66,500.00
601.2610	15" CPEP (SL)	LF	50	\$70.00	\$3,500.00	\$67.73	\$3,386.50	\$78.00	\$3,900.00
601.7010	15" CPEPES	EACH	2	\$500.00	\$1,000.00	\$325.00	\$650.00	\$400.00	\$800.00
630.15	CERTIFIED FLAGGERS	HR	160	\$40.00	\$6,400.00	\$62.50	\$10,000.00	\$48.00	\$7,680.00
646.612	TEMP 4 INCH YELLOW LINE, PAINT	LF	6,300	\$0.30	\$1,890.00	\$0.28	\$1,764.00	\$0.25	\$1,575.00
649.51	GEOTEXTILE FOR SILT FENCE	SY	200	\$9.00	\$1,800.00	\$4.00	\$800.00	\$1.20	\$240.00
900.675	PETROMAT PAVING FABRIC	SF	18,350	\$0.50	\$9,175.00	\$2.55	\$46,792.50	\$1.25	\$22,937.50
TOTAL ADD A	ALT. 'A'				\$362,945.00		\$374,301.00		\$367,152.50
TOTAL BASE	E BID & BID ALTERNATES				\$1,923,514.00		\$1,416,136.90		\$1,624,283.50



Attachment B: Contacted References



TODAYS DATE: 6/2/2022

THIS PROJECT NAME AND LOCATION:

Latham Road Phase 2

Roadway Reconstruction Project

CONTRACTOR'S NAME: Northwoods Excavating, Inc.

ADDRESS: 289 Ulman Road, Thetford Center, VT 05075

REFERENCE PROJECT:

NAME AND LOCATION: Thetford Phase 2 VT Rte 132 Roadway Recon.

DATE OF COMPLETION: On Going

TYPE OF WORK: 5.2 Miles of Roadway Reconstruction

CONTRACT AMOUNT: \$3,470,786.99

REFERENCE CONTACT:

CONTACT PERSON: Bryan Ruoff, Stantec

PHONE NUMBER: 603-854-9501

RECORD OF PERFORMANCE:

WAS THE PROJECT COMPLETED ON TIME, IF NO, WHY? YES

QUALITY OF WORK: GOOD

PROJECT MANAGEMENT QUALITY: GOOD

HOW WERE THEY WITH CHANGE ORDERS: VERY FAIR

ABILITY OF EQUIPMENT AND SKILLED LABOR: VERY GOOD

OVERALL PERFORMANCE: GOOD

WOULD YOU HIRE AGAIN: YES

COMMENTS: VERY EASY TO WORK WITH, PROVIDED ADDITIONAL CREWS TO MEET THE PROJECT SCHEDULE, WOULD RECOMMEND.



TODAYS DATE: 6/2/2022

THIS PROJECT NAME AND LOCATION:

Thetford VT Latham Road Phase 2 – Roadway Reconstruction Project

CONTRACTOR'S NAME: Northwoods Excavating, Inc.

ADDRESS: 289 Ulman Road, Thetford Center, VT 05075

REFERENCE PROJECT:

NAME AND LOCATION: Thetford Rte 132 Phase 1 Roadway Recon.

DATE OF COMPLETION: 8/31/2020

TYPE OF WORK: Roadway Reconstruction

CONTRACT AMOUNT: **\$1,070,990**

REFERENCE CONTACT:

CONTACT PERSON: Bret Kay, Nobis

PHONE NUMBER: **603-724-1147**

RECORD OF PERFORMANCE:

WAS THE PROJECT COMPLETED ON TIME, IF NO, WHY? YES

QUALITY OF WORK: GREAT

PROJECT MANAGEMENT QUALITY: GOOD

HOW WERE THEY WITH CHANGE ORDERS: VERY FAIR. TIM ULMAN THE OWNER MADE SUGGESTIONS TO MAKE CHANGES TO INCORPORATE NECESSARY ADDED SCOPE WORK WITHOUT INCREASING COSTS TO THE PROJECT.

ABILITY OF EQUIPMENT AND SKILLED LABOR: GOOD

OVERALL PERFORMANCE: GOOD

WOULD YOU HIRE AGAIN: YES

COMMENTS: HAVE A GOOD 10-YEAR WORKING RELATIONSHIP

WITH.



TODAYS DATE: 5/11/2021

THIS PROJECT NAME AND LOCATION:

Thetford VT Latham Road Phase 2 Roadway Reconstruction Project

CONTRACTOR'S NAME: Northwoods Excavating, Inc.

ADDRESS: 289 Ulman Road, Thetford Center, VT 05075

REFERENCE PROJECT:

NAME AND LOCATION: Thetford Gove Hill Road Storm Damage Repairs

DATE OF COMPLETION: 5/30/18

TYPE OF WORK: Slope Rehab.

CONTRACT AMOUNT: \$187,379

REFERENCE CONTACT:

CONTACT PERSON: Bryan Ruoff, Stantec

PHONE NUMBER: 603-854-9501

RECORD OF PERFORMANCE:

WAS THE PROJECT COMPLETED ON TIME, IF NO, WHY? YES

QUALITY OF WORK: GOOD

PROJECT MANAGEMENT QUALITY: GOOD

HOW WERE THEY WITH CHANGE ORDERS: N/A

ABILITY OF EQUIPMENT AND SKILLED LABOR: VERY GOOD

OVERALL PERFORMANCE: GOOD

WOULD YOU HIRE AGAIN: YES

COMMENTS: VERY EASY TO WORK WITH, AGREED TO ALLOW THE TOWN TO PURCHASE MATERIALS FOR THE IMPROVEMENTS TO

MINIMIZE COSTS TO THE TOWN.



TODAYS DATE: 6/2/2022

THIS PROJECT NAME AND LOCATION:

Thetford VT Latham Road Phase 2 Roadway Reconstruction Project

CONTRACTOR'S NAME: Northwoods Excavating, Inc.

ADDRESS: 289 Ulman Road, Thetford Center, VT 05075

REFERENCE PROJECT:

NAME AND LOCATION: Thetford Rte 132 Site#12 Storm Damage Repairs

DATE OF COMPLETION: 9/12/18

TYPE OF WORK: Roadway and Slope Rehab.

CONTRACT AMOUNT: \$255,402

REFERENCE CONTACT:

CONTACT PERSON: Bryan Ruoff, Stantec

PHONE NUMBER: 603-854-9501

RECORD OF PERFORMANCE:

WAS THE PROJECT COMPLETED ON TIME, IF NO, WHY? YES

QUALITY OF WORK: GOOD

PROJECT MANAGEMENT QUALITY: GOOD

HOW WERE THEY WITH CHANGE ORDERS: VERY FAIR

ABILITY OF EQUIPMENT AND SKILLED LABOR: VERY GOOD

OVERALL PERFORMANCE: GOOD

WOULD YOU HIRE AGAIN: YES

COMMENTS: VERY EASY TO WORK WITH, CARED ABOUT THE

TOWN AND COMMUNITY.



TODAYS DATE: 6/2/2022

THIS PROJECT NAME AND LOCATION:

Thetford VT Latham Road Phase 2 Roadway Reconstruction Project

CONTRACTOR'S NAME: Northwoods Excavating, Inc.

ADDRESS: 289 Ulman Road, Thetford Center, VT 05075

REFERENCE PROJECT:

NAME AND LOCATION: Thetford Turnpike Road S. Box Culvert

DATE OF COMPLETION: 8/28/18

TYPE OF WORK: CMP Pipe Arch Installation

CONTRACT AMOUNT: \$384,933

REFERENCE CONTACT:

CONTACT PERSON: Bryan Ruoff, Stantec

PHONE NUMBER: 603-854-9501

RECORD OF PERFORMANCE:

WAS THE PROJECT COMPLETED ON TIME, IF NO, WHY? YES

QUALITY OF WORK: GOOD

PROJECT MANAGEMENT QUALITY: GOOD

HOW WERE THEY WITH CHANGE ORDERS: VERY FAIR

ABILITY OF EQUIPMENT AND SKILLED LABOR: GOOD

OVERALL PERFORMANCE: GOOD

WOULD YOU HIRE AGAIN: YES

COMMENTS: WATER SUPPLY LINE LOCATED ON SITE AFTER BIDDING, CONTRACTOR WAS VERY FAIR WITH CHANGE ORDER PRICING TO RELOCATE LINE.



TODAYS DATE: 6/2/2022

THIS PROJECT NAME AND LOCATION:

Thetford VT Latham Road Phase 2 Roadway Reconstruction Project

CONTRACTOR'S NAME: Northwoods Excavating, Inc.

ADDRESS: 289 Ulman Road, Thetford Center, VT 05075

REFERENCE PROJECT:

NAME AND LOCATION: Thetford Rte 132 Site#16, 17

DATE OF COMPLETION: 5/4/20

TYPE OF WORK: Culvert Installation and Slope Repairs

CONTRACT AMOUNT: \$290,865

REFERENCE CONTACT:

CONTACT PERSON: Bryan Ruoff, Stantec

PHONE NUMBER: 603-854-9501

RECORD OF PERFORMANCE:

WAS THE PROJECT COMPLETED ON TIME, IF NO, WHY? YES

QUALITY OF WORK: GOOD

PROJECT MANAGEMENT QUALITY: GOOD

HOW WERE THEY WITH CHANGE ORDERS: VERY FAIR

ABILITY OF EQUIPMENT AND SKILLED LABOR: GOOD

OVERALL PERFORMANCE: GOOD

WOULD YOU HIRE AGAIN: YES

COMMENTS: WORK WAS PERFORMED AS ADDED CHANGE ORDER WORK TO A BASE CONTRACT. CONTRACTOR WAS VERY FAIR WITH PRICING AND PERFORMED GOOD WORK.

Attachment C: Northwoods Bid

SECTION 00331

BID

PART A - BI	Е
-------------	---

Proposal of	Northwoods Excava	ting Inc. (hereinafter called "BII	DDER"), organized and	l existing under the laws
of the State	of Vermont	doing business as _	a Corporation	*
*Insert "a co	rporation," "a part	nership," or "an individual" as	applicable.	

To the <u>Town of Thetford VT.</u> (hereinafter called "OWNER"): In compliance with your Advertisement for Bids, BIDDER hereby proposes to perform all Work for the construction of the: <u>2022 Latham Road Rehabilitation Project</u>, in strict accordance with the Contract Documents, within the time set forth therein, and at the prices stated below.

By submission of this bid, the BIDDER certifies, and in the case of a joint bid, each party thereto certifies as to his own organization, that this bid has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this bid with any other BIDDER or with any competitor.

The BIDDER declares that no person in the employ of the OWNER is pecuniarily interested in this proposal or in the Contract for the Work which he proposes to do, that he has carefully examined the Contract and Specifications and has informed himself fully in regard to all conditions pertaining to the site where the Work is to be done and has carefully estimated the Work. He understands that the OWNER, its agents and employees, are not to be in any manner held responsible for the accuracy of, or bound by, any estimates or plans or locations of underground structures relating to the Work, and that if any have been given or made, they are to be considered solely as a base for filling out and comparing the several proposals.

The BIDDER proposes to furnish all the labor, equipment and materials required for carrying out the Work in accordance with the accompanying Specifications and Drawings prepared by Stantec Consulting Services, Inc. for the sum specified herein, subject to additions and deductions according to the Specifications, and in all respects according to the terms thereof.

BIDDER hereby agrees to commence Work under this Contract on or before the date to be specified in the Notice to Proceed, and to achieve Substantial Completion within 120 calendar days from the date set in the Notice to Proceed. BIDDER further agrees to pay as liquidated damages, the sum of \$1,500.00 for each consecutive calendar day thereafter. See the SPECIAL CONDITIONS for work that must be completed for Substantial Completion and Final Completion.

The BIDDER proposes and agrees that within the next five (5) calendar days after the day on which Notice of the Award shall be given to him or mailed to him at the address hereinafter given, he will sign six (6) copies of the Agreement of the form provided in Section 00531 - Agreement, and will execute and deliver to the OWNER the Agreement and bonds in the sums specified, conditioned to faithfully furnish and do everything required of the CONTRACTOR, with a surety company authorized to do business in Vermont.

The BIDDER acknowledges receipt of the following addenda:

No.	Addendum #1	, dated ^{May 31}	, 20_22_
No.		, dated	, 20
No.		, dated	, 20
No.		, dated	, 20

195113470

STATEMENT OF BIDDER'S QUALIFICATIONS

All questions must be answered, and the data given must be clear and comprehensive. This Statement must be notarized. The Bidder may submit any additional information he/she desires.

te: _	May 31, 2022
	Firm Name:Northwoods Excavating, Inc.
	Permanent Main Office Address and Phone Number: 289 Ulman Road, Thetford Center, VT 05075 802-785-3162
	When Organized:
	If a Corporation, where incorporated (if in more than one State, so indicate): Vermont
	How many years have you been engaged in contracting under your present firm name: 37 Years
	Contracts on Hand (not completed). Show gross value for each contract, anticipated date of completion, names of Owner and Architect/Engineer: See attached.
	Show significant contracts (recently completed), gross value for each, the month and year completed, the names and phone numbers of Owner and Architect/Engineer. See attached.
	Experience in work similar to this contract (give Owner's name and Architect/Engineer associated with work)Route 132 Improvements Phase 1 - Nobis Engineering. Brett Kay, 603-724-1147, Route 132 Improvement
	Phase 2 - Town of Thetford, Stantec, Bryan Gazda 802-785-2922
	General character of work performed by you: Excavation, Gravel Installation, Culvert Replacement, Underdrain installation, ditching, slope stabilization, Guardrail, Paving (subcontractor), traffic control.

Have you ever defaulted on a contract? If so, where and why? No. List your major equipment that will be utilized for this contract. (Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned Friaxles (2) and 10 Whee 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Sive bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT Reference - Amy Vance, 802-785-2980	No.		
List your major equipment that will be utilized for this contract. [Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			
List your major equipment that will be utilized for this contract. [Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			
List your major equipment that will be utilized for this contract. [Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			
Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT		ulted on a contract? If so, where a	and why?
Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			
Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			
Indicate if owned or leased). 245 JD Excavator, 135 JD Excavator - owned 650 JD Dozer - owned Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			
Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Bive bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			contract.
Water Truck - owned grader - owned and subcontractor Roller - owned Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Bive bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	245 JD Excavator, 1	35 JD Excavator - owned	Triaxles (2) and 10 Wheeler (owned)
grader - owned Background and experience of the principal members of your organization the his Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Sive bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	650 JD Dozer - owr	ed	
Background and experience of the principal members of your organization this Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE - over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Sive bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	Water Truck - own	ed .	
Background and experience of the principal members of your organization the his Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE -over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Bive bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	grader - owned and	subcontractor	
his Contract. Tim Ulman - President, over 37 years experience Mary Ellen Parkman, PE -over 20 years of experience Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm he construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	Roller - owned		
Jason Horniak - Excavator operator with over 20 years of experience Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	Tim Ulman - Presiden		.,
Background and experience of supervisor you propose to represent your firm the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			erience
the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	oason norman - Exce	TVator operator with over 20 years or expe	nence
the construction period of this Contract. Mary Ellen Parkman, PE - Project Manager. Over 20 years of experience in civil engineering construction. Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	Packground and av		
Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT			se to represent your little at the site of
Give bank and credit references (include name, address and phone #): Wells River Savings Bank - 3088 US-5, East Thetford, VT	Mary Ellen Parkman,	PE - Project Manager. Over 20 years of	experience in civil engineering, project manag
Wells River Savings Bank - 3088 US-5, East Thetford, VT	construction.		
Wells River Savings Bank - 3088 US-5, East Thetford, VT			
Wells River Savings Bank - 3088 US-5, East Thetford, VT			
Wells River Savings Bank - 3088 US-5, East Thetford, VT	Give bank and cred	it references (include name, addre	ess and phone #):
Reference - Amy Vance 802-785-2980			
Thing rande, our roo zoo	Reference - Amy Va	nce, 802-785-2980	

16	Give name of Agency and Company that will provide Performance and Payment Bonds for this Contract (including reference contract):
	The Rowley Agency, 45 Constitution Avenue, Concord, NH
	Reference - Mark Stevens, 1-800-238-3840
	9
Subscr	Public: Chellis Harward mmission Expires: Annuary 31, 2023 Public Annuary 31, 2023

\$2,017,628.00

NORTHWOODS EXCAVATING, INC.

2022 Current Projects

2022			
In Progress	Start Date	Physical Location	Value
Britton Lumber - EF Wall	June - July	Bath, NH	\$119,860.00
Condon, Michael - Driveway	June	Corinth, VT	\$15,000.00
Davis Rd - Box culvert	June - Oct	Royalton, VT	\$193,000.00
DEW - Glencliff Home	June - July	Benton, NH	\$106,020.00
Eckman - Mtn Lebanon School	July - Sept	Lebanon, NH	\$500,000.00
Kahan, Alex - Wedding Pad	July - Aug	Norwich, VT	\$5,000.00
Malpino - Demo garage, site work new garage	June - Sept	Thetford Center, VT	\$26,850.00
Novo - Infrared, Mech Connection			\$9,200.00
Novo - Vactor Excav, Grouting			\$9,100.00
Pomfret - Box culvert	June - July	Pomfret, VT	\$174,876.00
RT 132 Ph II - Topcoat, finishes	May - Aug	Thetford Center, VT	\$569,222.00
Seligman, Brian - Pond	Aug - Sept	Bradford, VT	\$8,000.00
Trout Unlimited - Bath, NH Culvert	June - Oct	Bath, NH	\$187,000.00
Trumbull - Dartmouth Geisel School	June	Hanover, NH	\$91,000.00
Wallace, John - Pond Clean out - Finish up	Aug	Norwich, VT	\$3,500.00

NORTHWOODS EXCAVATING, INC. 289 ULMAN ROAD THETFORD CENTER, VT 05075 (802) 785-3162

COMPLETED PROJECTS - LAST THREE YEARS

Project Name	Contract Amt	Type of Work	% Subcon	Complete status	Location	Gen Contractor	Contact Information
Monroe, NH Town of	\$80,500	ROAD & HWY	12%	Completed 4/28/2022	GRANGE RD MONROE, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Tim Ulman (802)785-3162
STRAFFORD, VT TOWN OF DITCHING	\$71,800	MUNICIPAL ROAD SIDE DITCHING	2%	Completed 9/28/21	TURNPIKE RD ALGER BROOK RD	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
TANIT	\$322,275	RESIDENTIAL SITE WORK HORSE ARENA	2%	Completed 7/2/21	STRAFFORD, VT	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
NOVO NORDISK	\$835,228	SITE / CEMENT WORK	32%	Completed 10/26/21	9 TECHNOLOGY DR LEBANON, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
CHARLESTOWN, NH TOWN OF	\$152,503	ROAD & HWY BOX CULVERT	%9	Completed 12/22/21	BOROUGH RD	Northwoods Excavating, Inc. 289 Ulman Rd Thefford Center, VT 05075	Mary Ellen Parkman (802)785-3162
LACOSA/NORTH HALL	\$66,240	SITE / CEMENT WORK	3%	Completed 11/30/21	DARTMOUTH COLLEGE HANOVER, NH	REARCH COMPANY, INC. 88 TECHNOLOGY PKWY, SUITE 2 S. BURLINGTON, VT	Andrew MacKechnie (802) 863-8727 x3405
ROUTE 132	\$3,470,786	ROAD & HWY	54%	Completed 6/30/22	ROUTE 132 THETFORD CTR, VT	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
RUDSBORO ROAD IMPROV. BANK STABILIZATION	\$101,886	BANK STABILIZATION	39%	Completed 9/10/20	RUDSBORO RD, LEBANON, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
DARTMOUTH COLLEGE MRL DRAINAGE IMPROV.	\$22,900	DRAINAGE	%0	Completed 9/29/20	RAVINE RD WARREN, NH	Northwoods Excavating, Inc. 289 Ulman Rd Therford Center, VT 05075	Mary Ellen Parkman (802)785-3162
DARTMOUTH COLLEGE BAKER LIB SIDEWALK	\$32,532	SITE / CEMENT WORK	7%	Completed 11/25/20	MAIN ST HANOVER, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
ROUTE 132	\$1,070,990	ROAD & HWY	18%	Completed 8/31/20	THETFORD, STRAFFORD, VT	Nobis Engineering 18 Chenell Drive Concord, NH 03301	CHRIS ADAMS (603) 764-6236
HANOVER COOP NORWICH SERVICE STA.	\$42,855	SITE / PAVEMENT	48%	Completed 11/18/20	HANOVER, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
HANOVER COOP PARK ST	\$96,001	SITE / CEMENT WORK	53%	Completed 11/20/20	HANOVER, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162
HANOVER COOP COMMUNITY MARKET	\$65,789	SITE / CEMENT WORK	22%	Completed 9/14/20	HANOVER, NH	Northwoods Excavating, Inc. 289 Ulman Rd Thetford Center, VT 05075	Mary Ellen Parkman (802)785-3162

SCHEDULE OF PRICES:

NOTE: This Proposal shall be filled in by the BIDDER with the prices written in both words and numerals and the extensions made by him/her. In case of discrepancy between words and numerals, the amount shown in words shall govern.

BIDDER agrees to perform all the necessary labor, furnish all materials and do all work described in the Specifications and shown on the Drawings, for the following lump sum prices and/or stipulated unit prices:

BASE BID - LATHAM ROAD PHASE 2 ROAD REHABILITATION PROJECT

Item No.	Item Description	Unit	Unit Price	QTY	Total Price		
203.15	COMMON EXCAVATION	CY	\$ 10.25	7,300	\$ 74,825.00		
	Price in WordsTen dollars and twenty five	e cents					
204.20	TRENCH EXCAVATION OF EARTH	CY	\$ 21.00	400	\$ 8,400.00		
	Price in WordsTwenty one dollars and a	zero cents					
204.21	TRENCH EXCAVATION OF ROCK	CY	\$ 115.00	35	\$ 4,025.00		
Price in WordsOne hundred fifteen dollars and zero cents							
210.10	COARSE MILLED, BITUMINOUS PAVEMENT	SY	\$ 26.45	200	\$ 5,290.00		
	Price in WordsTwenty six dollars and for	ty five cents					
301.25	SUBBASE OF CRUSHED GRAVEL, COARSE GRADED	CY	\$ 30.80	3,000	\$ 92,400.00		
	Price in WordsThirty dollars and eighty cents						
301.26	CRUSHED SHIMMING GRAVEL - ADMIXTURE FINE GRADED	CY	\$ 30.80	1,200	\$ 36,960.00		
Price in Words_ Thirty dollars and eighty cents					÷		
310.20	FULL DEPTH RECLAMATION (FDR)	SY	\$ 1.10	15,500	\$ 17,050.00		
	Price in WordsOne dollar and ten cents	S					
401.10	AGGREGATE SURFACE COURSE	CY	\$ 38.50	200	\$ 7,700.00		
	Price in WordsThirty eight dollars and fi	fty cents					

Item No.	Item Description	Unit	Unit Price	QTY	Total Price	
402.42	AGGREGATE SHOULDERS TON \$ 44.50 560		560	\$ 24,920.00		
402.12	Price in WordsForty Four dollars at	nd fifty cents		/		
404.65	EMULSIFIED ASPHALT	GAL	\$ 8.80	600	\$ 5,280.00	
	Price in WordsEight dollars and eighty	cents				
406.35	SUPERPAVE BIT. CONCRETE (2-1/2" BASE COURSE)	TON	\$ 112.00	2,150	\$ 240,800.00	
	Price in WordsOne hundred twelve doll	ars and zero	cents		-	
406.35A	SUPERPAVE BITUMINOUS CONCRETE (1-1/2" TOP COURSE)	TON	\$ 112.00	1,350	\$ 151,200.00	
	Price in WordsOne hundred twelve dollars and zero cents					
406.50	PRICE ADJUSTMENT, BITUMINOUS ASPHALT	ALLOW	\$20,000.00	1	\$20,000.00	
	Price in Words Twenty, Thousand Dollars and Zero Cents					
540.10	PRECAST CONCRETE STRUCTURE (HEADWALLS)	EACH	\$ 6,000.00	1	\$ 6,000.00	
340.10	Price in WordsSix thousand dollars and zero cents					
601.2615	18" CPEP (SL)	LF	\$ 67.73	50	\$ 3,386.50	
001.2013	Price in WordsSixty Seven dollars and seventy three cents					
004 0000	24" CPEP (SL)	LF	\$ 78.50	50	\$ 3,925.00	
601.2620	Price in WordsSeventy eight dollars and	fifty cents				
601 7015	18" CPEPES	EACH	\$ 325.00	2	\$ 650.00	
601.7015	Price in WordsThree hundred twenty five dollars and zero cents					

Item No.	Item Description	Unit	Unit Price	QTY	Total Price		
601.7020	24" CPEPES EACH \$ 325.00 1 \$ 325						
001.7020	Price in WordsThree hundred twenty	five dollars a	nd zero cent				
605.10	6-INCH UNDERDRAIN PIPE	LF	\$ 21.50	1,800	\$ 38,700.00		
000.10	Price in WordsTwenty one dollars and	fifty cents					
605.10	UNDERDRAIN FLUSHING BASIN	EA	\$ 500.00	16	\$ 8,000.00		
003.10	Price in WordsFive hundred dollars and	zero cents					
609.10	DUST CONTROL WITH WATER	MGAL	\$ 110.00	45	\$ 4,950.00		
009.10	Price in WordsOne hundred ten dollars and zero cents						
613.10	STONE FILL, TYPE 1	CY	\$ 46.56	140	\$ 6,518.40		
013.10	Price in WordsForty six dollars and fifty six cents						
617.10	RELOCATE MAILBOX	EACH	\$ 150.00	6	\$ 900.00		
017.10	Price in Words One hundred fifty dollars and zero cents						
621.20	STEEL BEAM GUARDRAIL, GALVANIZED W/8 FEET POSTS	LF	\$ 37.40	600	\$ 22,440.00		
021.20	Price in WordsThirty seven dollars and forty cents						
621.50	MANUFACTURED TERMINAL SECTION, FLARED	EACH	\$ 3,245.00	8	\$ 25,960.00		
	Price in Words_ Three thousand two hundr	ed forty five o	lollars and zero cen	ts			
621.80	REMOVAL AND DISPOSAL OF GUARDRAIL	LF	\$ 1.50	600	\$ 900.00		
	Price in WordsOne dollar and fifty cent	s			<u></u> _		
621.81	REMOVAL AND DISPOSAL OF GUARDRAIL POSTS	EACH	\$ 10.00	50	\$ 500.00		
	Price in WordsTen dollars and zero cer	nts					

Item No.	Item Description	Unit	Unit Price	QTY	Total Price		
630.15	CERTIFIED FLAGGERS	HR	\$ 62.50	880	\$ 55,000.00		
030.13	Price in WordsSixty two dollars and fifty	cents			~		
635.11	MOBILIZATION/DEMOBILIZATION	LS	\$ 45,300.00	1	\$ 45,300.00		
000.11	Price in WordsForty five thousand three	hundred dolla	ars and zero cents				
641.10	TRAFFIC CONTROL	LS	\$ 22,550.00	1	\$ 22,550,00		
641.10	Price in WordsTwenty two thousand five	hundred fifty	dollars and zero ce	nts	a		
646.403	4 INCH WHITE LINE, PAINT	LF	\$.22	24,400	\$ 5,368.00		
010.100	Price in Words Twenty two cents				·		
646.413	4 INCH DOUBLE YELLOW LINE, PAINT	LF	\$.22	12,200	\$ 2,684.00		
	Price in WordsTwenty two cents						
646.478	12 INCH WHITE LINE, THERMOPLASTIC	LF	\$ 27.50	50	\$ 1,375.00		
	Price in WordsTwenty seven dollars and fifty cents						
646.612	TEMP 4 INCH YELLOW LINE, PAINT	LF	\$.28	6,300	\$ 1,764.00		
0.0.0.2	Price in WordsTwenty eight cents						
649.11	GEOTEXTILE FOR ROADBED SEPARATOR	SY	\$ 1.45	8,500	\$ 12,325,00		
	Price in WordsOne dollar and forty five cents						
649.31	GEOTEXTILE UNDER STONE FILL	SY	\$ 3.00	500	\$ 1,500.00		
649.31	Price in Words Three dollars and zero cents						
	GEOTEXTILE FOR SILT FENCE	SY	\$ 4.00	1,650	\$ 6,600.00		
649.51	Price in WordsFour dollars and zero cents						

Item No.	Item Description	Unit	Unit Price	QTY	Total Price		
651.15	SEED	LB	\$ 8.00	80	\$ 640.00		
651.15	Price in WordsEight dollars and zero cents						
651.18	FERTILIZER	LB	\$ 4.00	50	\$ 200.00		
031.10	Price in WordsFour dollars and zero co	ents					
651.35	TOPSOIL	CY	\$ 40.00	100	\$ 4,000.00		
031.33	Price in WordsForty dollars and zero cel	nts					
652.20	MONITORING EPSC PLAN	HR	\$ 80.00	32	\$ 2,560.00		
	Price in WordsEighty dollars and zero c	ents					
652.30	MAINTENANCE OF EPSC PLAN (N.A.B.I.)	LS	\$ 2,500.00	1	\$ 2,500.00		
Price in WordsTwo thousand five hundred dollars and zero cents							
675.20	TRAFFIC SIGN, TYPE A	SF	\$ 18.00	81	\$ 1,458.00		
073.20	Price in WordsEighteen dollars and zero cents						
675.341	SQUARE TUBE SIGNPOST AND ANCHOR	LF	\$ 18.70	110	\$ 2,057.00		
	Price in WordsEighteen dollars and seventy cents						
675.50	REMOVING SIGNS	EACH	\$ 10.00	10	\$ 100.00		
	Price in Words						
676.10	DELINEATOR WITH STEEL POST	EACH	\$ 125.00	26	\$ 3,250.00		
	Price in Words One hundred twenty five do	ollars and zero	cents				
900.545	TESTING SERVICES	ALLOW	\$10,000.00	1	\$10,000.00		
	Price in Words Ten thousand, dollars and zero						

Item No.	Item Description	Unit	Unit Price	QTY	Total Price		
900.608	REMOVE, STOCKPILE (OR HANDLING) AND PLACING RECYCLED RECLAIM MATERIAL	CY	\$ 9.25	3,600	\$ 33,300.00		
	Price in WordsNine dollars and twenty five cents						
900.64	SILT REMOVAL, DITCH SHAPING/GRADING, LOAM, SEED AND TEMPORARY FILTER FABRIC	LF	\$ 8.50	1,800	\$ 15,300.00		
	Price in WordsEight dollars and fifty cent	ts	-		·		

TOTAL BASE BID - LATHAM ROAD PHASE 2 ROAD REHABILITATION PROJECT

(in figures) \$	1,041,835.90	
(in words)	One Million forty one thousand eight hundred thirty five dollars and ninety cents	Dollar

OWNERS BID ADD ALTERNATE #1 - LATHAM ROAD PHASE 1 COMPLETION

Item No.	Item Description	Item Description Unit Unit Price QTY				
203,28	EXCAVATION OF SURFACES AND PAVEMENTS	СҮ	\$ 22.00	1,000	\$ 22,000.00	
	Price in WordsTwenty two dollars and ze	ero cents				
204.20	TRENCH EXCAVATION OF EARTH	CY	\$ 21.00	80	\$ 1,680.00	
204.20	Price in WordsTwenty one dollars and ze	ero cents			•	
210.10	COLD PLANING, BITUMINOUS PAVEMENT	SY	\$ 52.90	100	\$ 5,290.00	
Price in Words_ Fifty two dollars and ninety cents						
301.25	SUBBASE OF CRUSHED GRAVEL, COARSE GRADED	CY	\$ 30.80	60	\$ 1,848.00	
	Price in WordsThirty dollars and eighty cents					
402.12	AGGREGATE SHOULDERS	TON	\$ 44.50	180	\$ 8,010.00	
	Price in WordsForty four dollars and fifty cents					
404.65	EMULSIFIED ASPHALT	GAL	\$ 8.80	500	\$ 4,400.00	
.51.55	Price in WordsEight dollars and eighty co	ents			(a) 	

Item No.	Item Description	Unit	Unit Price	QTY	Total Price			
406.35	BITUMINOUS CONCRETE PAVEMENT (1-1/2" TOP COURSE)	TON	\$ 112.00	1,400	\$ 156,800.00			
	Price in WordsOne hundred twelve dolla	ars and zero	cents					
406.38	HAND PLACED SUPERPAVE BITUMINOUS CONCRETE (2-1/2" BASE COURSE PATCHING)	TON	\$ 112.00	290	\$ 32,480.00			
	Price in Words One hundred twelve dollar	s and zero ce	nts		s			
406.45	BITUMINOUS CONCRETE PAVEMENT SURFACE PREP (SHIM)	TON	\$ 112.00	700	\$ 78,400.00			
	Price in WordsOne hundred twelve dollars and zero cents							
	15" CPEP (SL)	LF	\$ 67.73	50	\$ 3,386.50			
601.2610	Price in WordsSixty seven dollars and seventy three cents							
004 7040	15" CPEPES	EACH	\$ 325.00	2	\$ 650.00			
601.7010	Price in WordsThree hundred twenty five dollars and zero cents							
	CERTIFIED FLAGGERS	HR	\$ 62.50	160	\$ 10,000.00			
630.15	Price in WordsSixty two dollars and fifty cents							
646.612	TEMP 4 INCH YELLOW LINE, PAINT	LF	\$.28	6,300	\$ 1,764.00			
	Price in WordsTwenty eight cents							
649.51	GEOTEXTILE FOR SILT FENCE	SY	\$ 4.00	200	\$ 800.00			
	Price in WordsFour dollars and zero cen	ts		111				
900.675	PETROMAT PAVING FABRIC	SF	\$ 2,55	18,350	\$ 46,792.50			
	Price in WordsTwo dollars and fifty five	cents						

TOTAL OWNERS BID ADD ALTERNATE#1 – LATHAM ROAD PHASE 1 COMPLETION PRICE:

(in figures) \$	374,301,00	
(in words)	Three hundred seventy four thousand three hundred one dollars and zero cents	Dollars
	ets to utilize Add Alternate 1 in the project, the Total Alternate 1 Price shall be added to id Price. The resulting amount would be the contract amount.	
TOTAL BASE	BID PLUS BID ADD ALTERNATE#1 COMBINED PRICE:	
(in figures) \$	1,416,136,90	
(in words)	One million four hundred sixteen thousand one hundred thirty six dollars and ninety cents	Dollars
	CONDITIONS Il be awarded on the basis of the BEST PERCEIVED VALUE, AS DETERMINED BY	
The OWNER res	serves the right to include or omit Bid Add Alternate#1 in the project.	
informalities in the a period of Sixty written notice of deliver the Control OWNER within for become the properties.	derstands that the OWNER reserves the right to reject any or all Bids and to waive any the Bidding. The BIDDER agrees that the Bid shall be valid and may not be withdrawn for (60) calendar days after the scheduled closing time for receiving Bids. Upon receipt of the acceptance of this Bid, the BIDDER shall execute the formal Contract attached and fact and Performance Bond and Payment Bond required by the General Conditions to the live (5) days. The Bid Security attached in the sum of ten percent (10%) of the Bid is to perty of the OWNER in the event the Contract and Bonds are not executed within the time dated damages for the delay and additional expense to the OWNER caused thereby.	
case this Bid sha and furnish satis the OWNER ma upon, this Bid sh become the prop	accepted by the OWNER at any time within sixty (60) days of the opening of Bids. In all be accepted by the OWNER, and the undersigned shall fail to execute the Contract factory Bonds, within five (5) days from the date of Notice of Award of the Contract, then y, at his option, determine that the undersigned has abandoned the Contract, and there hall be null and void, and the Bid Security accompanying this Bid shall be forfeited to and everty of the OWNER, or the penalty of the Bid Bond shall be invoked as liquidated the failure or neglect; otherwise, such Bid Security shall be returned to the undersigned.	
The full name ar	nd residence of all persons and parties submitting a Bid as principals are as follows:	
Timothy Ulman, F	President - 451 Ulman Road, Thetford, VT	

PART C - EXECUTION

The undersigned certifies under penalties of perjury that this bid is in all respects bona fide, fair and made without collusion or fraud with any other person. As used in this paragraph, the word "person" shall mean any natural person, joint venture, partnership, corporation or other business or legal entity.

Seal (if corporation)	(Signature of BIDDER)	
		President
		(Title of BIDDER)
	289 Ulman Road	
		(Business address of BIDDER)
		Thetford, VT 05075
		(Town, State and Zip Code)
Dated at T	hetford	the ^{1st} day of ^{June 2022} , 2021.

PART D - BID FORMS

CONTRACTOR'S EEO CERTIFICATION

Certification with regard to the Performance of Previous Contracts of Subcontracts subject to the Equal Employment Opportunity Clause and the filing of Required Reports. The bidder, proposed subcontractor, hereby certifies that he/she has, has not, participated in a previous contract or subcontract subject to the equal opportunity clause, as required by Executive Orders 10925, 11114, or 11246 as amended, and that he/she has, has not, filed with the Joint Reporting Committee, the Director of the Office of Federal Contract Compliance, a Federal Government contracting or administering agency, or the President's Committee on Equal Employment Opportunity, all reports due under the applicable filing requirements.

Northwoods Excavating, Inc.

Company

Certified By (Signature)

Timothy Ulman, President

Name and Title

NOTE: The above certification is required by the Equal Employment Opportunity regulations of the Secretary of Labor (41 CFR 60-1.7(b) (1)) and must be submitted by bidders and proposed subcontractors only in connection with contracts and subcontracts which are subject to the equal opportunity clause.

Contracts and subcontracts which are exempt from the equal opportunity clause are set forth in 41 CFR 60-1.5 (Generally only contracts or subcontracts of \$10,000 or under are exempt.) Currently, Standard Form 100 (EEO-1) is the only report required by the Executive Orders or their implementing regulations.

Proposed prime contractors and subcontractors who have participated in a previous contract or subcontract subject to the Executive Orders and have not filed the required reports should note that 41 CFR 60-1.7 (b) (1) prevents the award of contracts and subcontracts unless such contractor submits a report covering the delinquent period or such other period specified by the Federal Highway Administration, or by the Director, Office of Federal Contract Compliance, U.S. Department of Labor.

STATE OF VERMONT AGENCY OF TRANSPORTATION DEBARMENT AND NON-COLLUSION AFFIDAVIT

I. Timothy Ulman	representing
(Official Authorized to Sign Contracts) of ,	
a corporation C	OfThetford, VT
(Individual, Partnership or Corporation)	(City and State)
being duly sworn, depose and certify under the penalti	es of perjury under the laws of the State of Vermont
and the United States that on behalf of the person,	
certifying that such person, firm, association, or corpora	
any agreement, participated in any collusion, or otherv	vise taken any action, in restraint of free competitive
bidding in connection with the submitted bid for the Ve	rmont project:
2022 Latham Road Rehabilitation Project	
(Project Name)	
Thetford, VT – Latham Road	195113470
project located on (Route or Highway),	(Project Number)
project results on (results or ringa)),	(, , , , , , , , , , , , , , , , , , ,
bids opened at The Town of Thetford, VT	.,
(Town or City	y), Vermont
On June 1, 2022	
(Date)	
I further depose and certify under the penalties of per	jury under the laws of the State of Vermont and the
United States that except as noted below said individua	I, partnership or corporation or any person associated
therewith in any capacity is not currently, and has no	ot been within the past three (3) years, suspended,
debarred, voluntarily excluded or determined ineligible	e by any Federal or State Agency; does not have a
proposed suspension, debarment, voluntary exclusion of	or ineligibility determination pending; and has not been
indicted, convicted, or had a civil judgement rendered a	gainst (it, him, her, them) by a court having jurisdiction
in any matter involving fraud or official misconduct with	nin the past three (3) years.
V	
Exceptions: NoXYes (If yes complete b	ack of this form.)
Aylin	
Swarr to before me this: 1st day of, June 2	20 22 Northwoods Excavating, Inc.
1300	L.S.
	(Name of Individual, Partnership or Corporation)
10 15 E	Com allow LS.
- and	(Signature of Official Authorized to Sign Contracts)
VENIN	(- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
Challis Hayward.	Timothy Ulman L.S.
(Notary Public)	(Name of Individual Signing Affidavit)
25 00	
(My commission expires $1/31/23$)	President L.S.
	(Title of Individual Signing Affidavit)
Exceptions will not necessarily result in denial of awar	d but will be considered in determining bidder
responsibility. For any exception noted, indicate below	to whom it applies, initiating agency, and dates of

END OF SECTION

action. Providing false information may result in criminal prosecution of administration sanctions.

SECTION 00410

BID BOND

KNOW	ALL MEN BY THESE PRESENTS, that we, the undersigned Northwoods Excavaling, he
as Prin	cipal, and Have hower a Agney
as Sur	ety, are hereby held and firmly bound unto <u>TOWN OF THETFORD</u> as OWNER in the penal sum of
Ten pe	rcent (10%) of the bid
	for the payment of which,
well an	d truly to be made, we hereby jointly and severally bind ourselves, successors, and assigns.
Signed	I, this $\frac{1}{2}$ day of $\frac{1}{2}$ $\frac{1}{2}$ 2022. The Condition of the above obligation is such that whereas
	ncipal has submitted to the <u>TOWN OF THETFORD</u> a certain Bid, attached hereto and hereby
	a part hereof to enter into a contract in writing, for the CONSTRUCTION OF the 2022 LATHAM
	REHABILITATION PROJECT
NOW,	THEREFORE,
(a)	If said Bid shall be rejected, or
(b)	If said Bid shall be accepted and the Principal shall execute and deliver a contract in the Form of
()	Contract attached hereto (properly completed in accordance with said Bid) and shall furnish a
	Bond for his faithful performance of said contract, and for the payment of all persons performing
	labor or furnishing materials in connection therewith, and shall in all other respects perform the
	agreement created by the acceptance of said Bid, then this obligation shall be void, otherwise the
	same shall remain in force and effect; it being expressly understood and agreed that the liability
	of the Surety for any and all claims hereunder shall, in no event, exceed the penal amount of this
	obligation as herein stated. The Surety, for value received, hereby stipulates and agrees that the
	obligations of said Surety and its Bond shall be in no way impaired or affected by any extension
	of the time within which the OWNER may accept such Bid; and said Surety does hereby waive
	notice of any such extension.
IN WIT	NESS WHEREOF, the Principal and the Surety have hereunto set their hands and seals, and such
of then	n as are corporations have caused their corporate seals to be hereto affixed and these presents to
be sigr	ned by their proper officers, the day and year set forth above.
	(L.S.)
Princip	Suc Attached
Surety	000 (13000000
-	
Ву:	Mark stevers

IMPORTANT: Surety companies executing Bonds must appear on the Treasury Department's most current list of companies holding Certificates of Authority as Acceptable sureties, known as circular 570 (Circular 570 as amended) and be authorized to transact business in the state where the project is located.

END OF SECTION

BID BOND

KNOW ALL MEN BY THESE PRESENTS, that we, the undersigned, NORTHWOODS EXCAVATING, INC.
289 Ulman Road, Thetford Center, VT 05075 as Principal, and
HARCO NATIONAL INSURANCE COMPANY, AGENCY: P.O. Box 511, Concord, NH 03302- as Surety, are hereby 0511
held and firmly bound untoTOWN OF THETFORD, 3910 Route 113, Thetford Center, VT 05075 as OWNER
In the penal sum ofTEN PERCENT OF AMOUNT BID (10% OF AMOUNT BID)
for the payment of which, well and truly to be made, we hereby jointly and severally bind
ourselves, successors and assigns.
Signed, this lst day of _June, 2022
The Condition of the above obligation is such that whereas the Principal has submitted to
TOWN OF THETFORD
A certain BID attached hereto and hereby made a part hereof to enter into a contract in writing for
the 2022 LATHAM ROAD REHABILITATION PROJECT

NOW THEREFORE,

- (a) If said BID shall be rejected or
- (b) If said BID shall be accepted and the Principal shall execute and deliver a contract in the Form of Contract attached hereto (Properly completed in accordance with said BID) and shall furnish a BOND for faithful performance of said contract, and for the payment of all persons performing labor or furnishing materials in connection therewith, and shall in all other respects perform the agreement created by the acceptance of said BID, then this obligation shall be void, otherwise, the same shall remain in force and effect; it being expressly understood and agreed that the liability of the Surety for any and all claims hereunder shall, in no event, exceed the penal amount of this obligation as herein stated.

The Surety, for value received, hereby stipulates and agrees that the obligations of said Surety and its BOND shall be in no way impaired or affected by any extension of the time within which the OWNER may accept such BID; and said Surety does hereby waive notice of any such extension.

IN WITNESS WHEREOF, the Principal and the Surety have hereunto set their hands and seals and such of them as are corporations have caused their corporate seals to be hereto affixed and these presents to be signed by their proper officers, the day and year first set forth above.

	NORTHWOODS EXCAVATING, INC.	
	Principal	
By:	Tunlla	
	HARCO NATIONAL INSURANCE COMPANY	
	Surety	
By:	malfSleven	
	Mark J. Stevens, Attorney-in-Fact	

IMPORTANT – Surety companies executing BONDS must appear on the Treasury Department's most current list (Circular 570 as amended) and be authorized to transact business in the State of where the project is located.

POWER OF ATTORNEY

HARCO NATIONAL INSURANCE COMPANY INTERNATIONAL FIDELITY INSURANCE COMPANY

Member companies of IAT Insurance Group, Headquartered: 702 Oberlin Road, Raleigh, North Carolina 27605

KNOW ALL MEN BY THESE PRESENTS: That HARCO NATIONAL INSURANCE COMPANY, a corporation organized and existing under the laws of the State of Illinois, and INTERNATIONAL FIDELITY INSURANCE COMPANY, a corporation organized and existing under the laws of the State of New Jersey, and having their principal offices located respectively in the cities of Rolling Meadows, Illinois and Newark, New Jersey, do hereby constitute and appoint

MICHAEL P. O'BRIEN, RYAN M. STEVENS, MATTHEW R. BLAISDELL, CHRISTOPHER ABBOUD, MARK J. STEVENS, DANIEL E. CHURCH, GARY P. LAPIERRE, BRUCE H. LANGLEY, CHRISTINE M. HOSMER, PAULA J. CANTARA

Concord, NH

their true and lawful attorney(s)-in-fact to execute, seal and deliver for and on its behalf as surety, any and all bonds and undertakings, contracts of indemnity and other writings obligatory in the nature thereof, which are or may be allowed, required or permitted by law, statule, rule, regulation, contract or otherwise, and the execution of such instrument(s) in pursuance of these presents, shall be as binding upon the said HARCO NATIONAL INSURANCE COMPANY and INTERNATIONAL FIDELITY INSURANCE COMPANY, as fully and amply, to all intents and purposes, as if the same had been duly executed and acknowledged by their regularly elected officers at their principal offices,

This Power of Attorney is executed, and may be revoked, pursuant to and by authority of the By-Laws of HARCO NATIONAL INSURANCE COMPANY and INTERNATIONAL FIDELITY INSURANCE COMPANY and is granted under and by authority of the following resolution adopted by the Board of Directors of INTERNATIONAL FIDELITY INSURANCE COMPANY at a meeting duly held on the 13th day of December, 2018 and by the Board of Directors of HARCO NATIONAL INSURANCE COMPANY at a meeting held on the 13th day of December, 2018.

"RESOLVED, that (1) the Chief Executive Officer, President, Executive Vice President, Senior Vice President, Vice President, or Secretary of the Corporation shall have the power to appoint, and to revoke the appointments of, Attorneys-in-Fact or agents with power and authority as defined or limited in their respective powers of attorney, and to execute on behalf of the Corporation and affix the Corporation's seal thereto, bonds, undertakings, recognizances, contracts of indemnity and other written obligations in the nature thereof or related thereto; and (2) any such Officers of the Corporation may appoint and revoke the appointments of joint-control custodians, agents for acceptance of process, and Attorneys-in-fact with authority to execute waivers and consents on behalf of the Corporation; and (3) the signature of any such Officer of the Corporation and the Corporation's seal may be affixed by facsimile to any power of attorney or certification given for the execution of any bond, undertaking, recognizance, contract of indemnity or other written obligation in the nature thereof or related thereto, such signature and seals when so used whether heretofore or hereafter, being hereby adopted by the Corporation as the original signature of such officer and the original seal of the Corporation, to be valid and binding upon the Corporation with the same force and effect as though manually affixed."

IN WITNESS WHEREOF, HARCO NATIONAL INSURANCE COMPANY and INTERNATIONAL FIDELITY INSURANCE COMPANY have each executed and attested these presents on this 31st day of December, 2019

SEAL SEAL STATE OF THE STATE OF

STATE OF NEW JERSEY County of Essex

STATE OF ILLINOIS County of Cook

Bond #

Kenneth Chapman

Executive Vice President, Harco National Insurance Company and International Fidelity Insurance Company

On this 31st day of December, 2019 , before me came the individual who executed the preceding instrument, to me personally known, and, being by me duly sworn, said he is the therein described and authorized officer of HARCO NATIONAL INSURANCE COMPANY and INTERNATIONAL FIDELITY INSURANCE COMPANY; that the seals affixed to said instrument are the Corporate Seals of said Companies; that the said Corporate Seals and his signature were duly affixed by order of the Boards of Directors of said Companies.



IN TESTIMONY WHEREOF, I have hereunto set my hand affixed my Official Seal, at the City of Newark, New Jersey the day and year first above written,

Shirelle A. Outley a Notary Public of New Jersey (My Commission Expires April 4, 2023

CERTIFICATION

I, the undersigned officer of HARCO NATIONAL INSURANCE COMPANY and INTERNATIONAL FIDELITY INSURANCE COMPANY do hereby certify that I have compared the foregoing copy of the Power of Attorney and affidavit, and the copy of the Sections of the By-Laws of said Companies as set forth in said Power of Attorney, with the originals on file in the home office of said companies, and that the same are correct transcripts thereof, and of the whole of the said originals, and that the said Power of Attorney has not been revoked and is now in full force and effect.

IN TESTIMONY WHEREOF, I have hereunto set my hand on this day, June 01, 2022

Chewe Hentie

Attachment D : Notice to Award

SECTION 00420

NOTICE OF AWARD

То:	
Project Description: CONSTRUCTION OF THE 2022 LATHAM ROAD REHABILITATION PROJECT	
You are hereby notified that your Bid has been accepted for items in the amount of \$1,416,136.90 which represents the sum total of the submitted Base Bid and Bi Add Alt#A Total.	d
You are required by the Instructions to Bidders to execute the Agreement and furnish the req CONTRACTOR'S Performance Bond, Payment Bond and certificates of insurance within five (5) cale days from the date of this Notice to you.	•
If you fail to execute said Agreement and to furnish said Bonds within five (5) days from the date on Notice, said OWNER will be entitled to consider all your rights arising out of the OWNER'S acceptang your Bid as abandoned and as a forfeiture of your Bid Bond. The OWNER will be entitled to such other use may be granted by law.	ice o
You are required to return an acknowledged copy of this Notice of Award to the OWNER.	
Dated this <u>6th</u> day of <u>June</u> , 2022.	
OWNER:	
TOWN OF THETFORD	
Ву:	

195113470 May 2022

Bryan Gazda, Town Manager

ACCEPTANCE OF NOTICE

Receipt of the above NOTICE OF AWARD is hereby acknowledged

by	
,	(Contractor)
this the	_day of, 2022
Ву	
,	(Tim Ulman)
Title Owner	

END OF SECTION

SECTION 00420

NOTICE OF AWARD

То:	
Project Description: <u>CONSTRUCTIO</u>	ON OF THE 2022 LATHAM ROAD REHABILITATION PROJECT
-	d has been accepted for items in the amount of which represents the sum total of the submitted Base Bid.
	ons to Bidders to execute the Agreement and furnish the required and, Payment Bond and certificates of insurance within five (5) calenda you.
Notice, said OWNER will be entitled	ent and to furnish said Bonds within five (5) days from the date of this d to consider all your rights arising out of the OWNER'S acceptance of feiture of your Bid Bond. The OWNER will be entitled to such other rights
You are required to return an ackno	owledged copy of this Notice of Award to the OWNER.
Dated this <u>6th day of June</u> , 2022.	
	OWNER:
	TOWN OF THETFORD
	Ву:
	 Bryan Gazda, Town Manager

ACCEPTANCE OF NOTICE

Receipt of the above NOTICE OF AWARD is hereby acknowledged

by	
•	(Contractor)
this the	_day of, 2022
Ву	
,	(Tim Ulman)
Title Owner	

END OF SECTION